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Given the following code for a ZBug that inherits from PatternBug:
public class ZBug extends PatternBug {

  private int sideNum = 0; // the side number being drawn
  /**  Constructs a Z bug that traces a z of a given side length

   * @param length the side length */
  public ZBug(int length)  {
    super(length);

    setDirection(Location.EAST);

  }
  /** Traces a Z */
 public void act() {

    // if still drawing the Z

    if (sideNum < 3) {

      int currSteps = getSteps();

     // see if still working on a side

      if (getSteps() < getSideLength() && canMove())  {

        move();

        setSteps(currSteps + 1);

      }

      // if finished first side

      else if (sideNum == 0)  {

        setDirection(Location.SOUTHWEST);

        sideNum = 1;

        setSteps(0);

      }

      // if finished 2nd side

      else if (sideNum == 1)  {

        setDirection(Location.EAST);

        sideNum = 2;

        setSteps(0);

      }

      // else done with last side

      else if (sideNum == 2)  {

        sideNum = 3;

      }

    }

  }

}
Write the class for a NBug which draws an N and then stops moving.  The NBug must also inherit from PatternBug.
